Workshop Calculation & Science (1st Year) Nimi Question www.ncvtonline.com

Module:4 Mass, Weight and Density GcI#Te, doisl 3R Heicd

Q1. What is termed as the quantity of matter contained in a body? | fF&Y s & Afgd uere
T FTIT T FAT gl STl 672

(A) Density | gelca

(B) Volume | 31T deT

(C) Mass | gcTHTA

(D) Specific gravity | faflrse Ica

answer:C,

Q2. What is the force with which a body is attracted by the earth towards its centre? | ag @il
AT 9ol & TS HROT 1S T aee] Ferd & e i 3R 3TN Bl 872

(A) Mass | geIHTT

(B) Weight | I

(C) Volume | 31 d=

(D) Density | gelca

answer:B,

Q3. What is called mass per unit volume of a substances? | frdY 9eTef & geaaT Ufa &S
3T T FAT hgd 8?2

(A) Mass | gedHTT

(B) Weight | I

(C) Density | gedca

(D) Volume | 3T deT

answer:C,

Q4. What is called the ratio between the density of a substance's density of water at 4°C? |
gy o Heled TUT 4 °C TR UTeil & EeTed ol 3e]UTel FIT Hgellell §72

(A) Density | "elcd

(B) Specific gravity | faferse ke

(C) Mass | gecIHTT

(D) Weight | I

answer:B,

Q5. What is the density of aluminum? | TR T etcd fahclaIT 81T &2
(A) 2.7 g/lcm?

(B) 3.7 g/lcm®

(C) 4.7 g/cm?

(D) 5.7 g/cm?

answer:A,

Q6. What is the mass if the density of a body is 7.6 g/cm? and its volume is 25 cm3? | If¢
forelY s &7 Teica 7.6 T / AR § 3R ST 3TdaT 25 FHE & A SHAT gIHATT ThdelT gram?
(A) 190 grams

(B) 200 grams
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(C) 210 grams
(D) 220 grams
answer:A,

Q7. What is the specific gravity of the solid, if density of the solid is 19.5 g/cm3? | Ife; a1 T
gelcd 19.5 ATH / Q&R § A a1 o1 fAfrse a6ca fohcter gram?

(A)18.0

(B) 18.5

(C)19.0

(D) 19.5

answer:D,

Q8. What is the density (r) in g/cm?® of an iron cube, if it weighs (W) 4.8 kg and volume (V) is
640 cm37? | T @lg o bl &1 Gefcd(r) g / cm? H TohcelT 8191, afe 31 IR(W) 4.8 Fhatamd 31
HITA(V) 640 cm? §?

(A) 6.6 g/lcm?

(B) 6.9 g/lcm?®

(C) 7.2 g/lcm?®

(D) 7.5 g/cm?®

answer:D,

Q9. What is the volume (V) of mercury in cm?, if mass (m) of mercury is 1 kg and density (r)
is 13.6 g/cm?? | TTE IIRT T eI (m) 1 Toharm § 31K ge7cd (r) 13.6 g / cm® § dl IR &7 3l
V) FHT ® A fohefell gram?

A) 73.53 cm?®

B) 73.43 cm?

C)73.33cm?

D) 73.23 cm?

answer:A,
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Q10. What is the mass in grams, if a force of 15 tyres acting on a mass m produces an
acceleration of 2.5 cm/sec?? | I fohEY a&] X 15 QT T T A § I 2.5 AT / Yhus?
oh TIROT A ITCY Il § @ aE] T GAHATST FT ramr?

(A) 9 grams

(B) 8 grams

(C) 7 grams

(D) 6 grams

answer:D,

Q11. What is the specific gravity of the metal, if the piece of metal weighs 150 grams in air
and 125 grams in water? | €ITc] T 3%cd chg, AT G141, Afe; &I T HR gaT & 150 I AR g1t
H 125 IH E?

(A)6

(B) 10

(C)15

(D) 25

answer:A,
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Q12. What is the volume of mercury in cm?, if the mass (m) of mercury is 136 grams (g) and
density (r) of mercury is 13.6 g/cm?? | I IRT ST GeIHATT (M) 136 ITH § 3R IRT T =Icq (r)
13.6 g/ cm? & dl IR ST 3T T T FIT gIam?

(A) 136 cm?

(B) 13.6 cm?

(C)10.6 cm?®

(D) 10.0 cm?®

answer:D,

Q13. What is the block weighs (W) in kg, if volume (V) is 320 cm?® and density 8.9 g/cm?3? |
T 97T selfeh T AR FHATATH A AT GI9T , TTS SHeRT AT (V) 320 {1 3R Teica 8.9 a# /
Jere g2

(A) 2.948 kg

(B) 2.848 kg

(C) 2.648 kg

(D) 2.448 kg

answer:B,

Q14. What is the specific gravity of the metal, if the weighs 6.5 kgf in air and 3.5 kgf in
water? | Ife YT T HR 6.5 FHellalTH §aT H TAUT 3.5 FHAIH Il A § Al &1 1 faRIse aeca
T gIaT?

(A) 6.166

(B) 3.166

(C)2.166

(D) 1.166

answer:C,

Q15. What is the weight force of a car has a mass of 800 kg? (Take g = 9.81m/sec) | Teh X
FT AR T 800 ToHAT T geTHTT gt 82 (9= 9.81 #HT| / THUT)

(A) 7848 Newton

(B) 7748 Newton

(C) 7847 Newton

(D) 7487 Newton

answer:A,
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